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Factorial

® |Implementacién de factorial

static public int fibo(int n)
{
if (n==0)
return 1;
return n * fibo( n -1);

}

Factorial

e Matematicamente el Factorial de un
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numero “n” positivo, se define como:
e Oles 1

e nlesn™*(n-1)!

F(4)=? (&
int fibo(int n) {

if (n == 0) return 1;
F(4) =4 * F(3)| return n * fibo(n_1);
}

int fibo(int & {

if (n == 0) return 1;
F(3) = 3 * F(2) | return n * fibo(n-1);
}
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F(4)=4*F(@3)

}

int fibo(int m) {
if (n == 0) return 1;
return n * fibo(n-1);

F(3)=3*F(2)

}

int fibo(int m

if (n == 0) return 1;
return n * fibo(n-1);

F(2)=2*F(1)

int fibo(int i {
if (n == 0) return 1;
return n * fibo(n-1);
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F(4)=? (&) F(1)=1*F(0) (Y=<
int fibo(int m) { int fibo(int n) { B,
if (n == 0) return 1; if (n == 0) return 1;
F(4) =4 * F(3)| return n *fibo(n-1); return n * fibo(n-1);
} }
int fibo(int i { int fibo(int i {
if (n == 0) return 1; if (n == 0) return 1;
F(3) =3 * F(2) | return n*fibo(n-1); return n * fibo(n-1);
} }
int fibo(int i {
if (n == 0) return 1;
F(2) =2 * F(1)| returnn*fibo(n-1);
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F(4)=? (@ 1 <
int fibo(int m) { int fibo(int n) {
if (n == 0) return 1: if (n == 0) return 1;
F@)}

F(4)=4*F(3
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returnn F(1) = return n * fibo(n-1);
} 13)
int fibo(int i {

if (n == 0) return 1;

return n * fibo(n-1);

F(3)=3*F(2)

}

int fibo(int i {
if (n == 0) return 1;
return n * fibo(n-1);
1

F(2)=2*F(1)

F(1)=1*F(0)

int fibo(int n) {
if (n == 0) return 1;
return n * fibo(n-1)

F(4) =7
int fibo(int n) {
if (n == 0) return 1;
return n * fibo(n-1%

F(4)=4*F(@3)

}

{1
int fibo(int n) {~
if (n ==0) return 1;
return n * fibo(n-1);

int fibo(int n) {
if (n == 0) return 1;
return n * fibo(n-1);

F(3)=3*F(2)

}

int fibo(int n) {
if (n == 0) return 1;

)s

return n * fibo(n-1

F(2)=2*F(1)




